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Example 1: The table below defines the activities within a small project:

Activity | Predecessor
A -

B A

C AB

D C

E D

F D.E

Sol./ 1) Activity on Arrows:

2) Activity on Node:




Example 2: Draw the network diagram for the activities in the table below by rectangles
method.

Activity | Duration Predecessor
A 5 -
B 10 A
C 15 B
D 20 C
E 3 C
F 6 C
G 2 D,E,F
Sol./ D
20
" .
A B C E
5 1 | 10 I EE 3 '
/’
F
6

Critical path = A-B-C-D-G
Total duration of the project = 52



Example 3: Find the critical path and total duration?

Activity | Duration Predecessor
A 4 -
B 5 A
C 7 B
D 8 A
E 9 D
F 2 C,E

Sol./

Critical path = A-D-E-F
Total duration of the project = 23




Example 4: The table below defines the activities within a small project:

e Draw the network diagram.
e Calculate the minimum overall project completion time and identify which
activities are critical.

Activity | Duration Predecessor
(days)
A 3 -
B 1 A
C 2 B, A
D 7 -
E 8 D, A
F 3 B
G 1 E,F
H 2 D
Sol./
A C
3 / 2
B F G
Start 1 3 1 End
D E
7 8
H
2

Critical path = D-E-G
Total duration of the project = 16 days
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Example 5: Activity on arrows

Activity | Duration Successor
(days)

A 1

B 3 E
C 3 F,G
D 4 H
E 2 I

F 1 H
G 3 I
H 5 J

I 6 -

J 4 -

Sol./

Critical path = A-D-H-J

Total duration of the project = 14 days
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